any two.

ynsumer’s surplus and state its importance.
the statistical methods of demand forecasting.
se of coffee rises from Rs 8.00/- per hundred

y Rs 10/- per hundred grams, the consumer’s

for tea increases from 70 grams to 80 grams’

e the cross elasticity of demand of tea for coffee.

. any two.

the law of variable proportions.
the properties of a long run Average cost curve

tal Fixed cost is Rs 150, Calculate the Average

cost from the following table.

tput (q) 1 2 3 4

al cost (Tc)| 320| 340| 355| 415
(Rs)

t any two.

the relationship between Average Revenue, Marginal
- and Total Revenue under Monopoly with the help of

n and table.

, the profit maximisation bjective of a firm.



les maximisation objective of a firm.
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